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(A)(—Dx(—2)=-2 (B)(—1)x(—2)x(—3)=6

O Dx(—2)x(—3)x(—4)=24  (D)(—5)*(—6)x(—7)x0=2100

()2~ MFKIHIKAL - G TS 455 » B 3 RAKHEHTKTEL S RIS SIES DA% 2
WESAS  BESAW  OF15AS  (D)EISAS

C D3 ERERED(ED(EDx(=D+(=D=? (A)—-1 (B)0 (O1 (D)2

()4~ ERx4==20>7Tx(=1)=Z > (=2)x(=5)=M > (—6)xT = —24 > QI NFIEEIH (T - ?
(A)H =5 (B)Z=7 (C)=—10 (D)T =4
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(A)(—135)+(—45)  (B)(—300)=(—25)x(—4)  (C)(—92)x(—6)x(—8)+(—10)  (D)(—51)x43x82+(—7)x40
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(A(=3)+(=3)+(=3)+(=3) (B)(—3)+(—3)x(—3)
(C)—(—3)x(—3)x(—3) (D) — (3x3x3x3)
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(A) (98 +32)x17=98x17+32x17 (B) (98 —32)x17=98x17 —32x17
(C) (98+32)+17=98+17 +32+17 (D) 98+(32+17)=98+32+-98+17
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